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DESIGN OF R.C.C. STRUCTURE
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Question No. 1 is compulsory, answer any FIVE questions from the remaining.
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Solve all parts of a question consecutively together.
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Start each question on fresh page. :
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Only English version is valid in case of difference in both the [an’guages
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Assume suitable datas, wherever necessary.

1. Prafalgs st & dfie SRR
 Answer the following questions briefly :
() weEedaEmf 0
Working stress method
(i) <rEll yafed =
Doubly Reinforced Beam
(i) R Fgw
One way slab
(iv) T & ETan Ikl
. Minimum eccentricity in column. -
(v) 1{& wfvaa # gt E .
Losses in prestressmg » | © o (2x5).
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Determine the moment of resistance of a reinforced concrete beam of effectlve
depth 310 mm and width of 250 mm. 3 bars of 12 mm diameter are used in it.
- Use M-20 grade-concrete and Fe-415 steel.
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In what cncumstances, doubly reinforced beams are designed ? - ‘ (6+6)
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Design a simply supported one way slab with clear span of 2.5 m resting on 230 mm

* thick masonry walls subjected to a live load of 5 kN/rh2 Use M-20 grade concrete and
Fe-415 steel grade. 12)

4. fm = dftrm & angmg
Expla.m the following in brief :
(i) mmuﬁaaﬁrﬁ:@m aﬁwﬁﬁﬁ FHT qWHRT |
Explain the differences between working stress method and  limit state method.
(i) wmhie o forg ariflres guan Tons e & g w6l R R
Why is partial safety factor taken more for concrete than steel ?
(iti) forpm -
Diagonal tension ' - . 4x3)
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: " Mention main assumptions for design of Compression members.
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Design a short column to carry aaxial load of 1600 kN. It is 4 m long and both :
ends fixed. Use M-20 grade concrete and Fe-415 steel. | : (4+8)

6. mwﬁmm 450 mm x 450 mmﬁmm 850 kKNST R %1 o W1 B, 3% e ure
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' Design a square footing for an axially loaded column of 450 mm x 450 mm, the safe -

bearing capacity of soil is 190 kN/m?, load on the column is 850 kN. Use M-20 conc.
grade and Fe-415 steel. | | S (12
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Explain the stability of retaining wall.
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Describe the various types of retaining wall with the help of neat sketch. ~  (6+6)
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Discuss the advantages and disadvantages of pre-stressed concrete.
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Write a short note on losses of pre-stress in pre-sn'essed concrete structure.  (6+6)







